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2015.01.01(JI=Xt=)

167,455,885,000

276,205,595,328

(40,066,241,915)

775,720,700,974

1,233,428,389,991
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77,469,140,616

77,469,140,616
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(47,688,421,371)

(47,688,421,371)
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(13,494,972,996)

(13,494,972,996)
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(41,999,147,800)

(41,999,147,800)

2015.12.31O1 L Xt

167,455,885,000

276,205,595,328

(40,066,241,915)

6,424,029,233

797,695,720,794

1,207,714,988,440
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167,455,885,000

276,205,595,328

(40,066,241,915)

6,424,029,233

797,695,720,794

1,207,714,988,440
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11,107,133,489
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(22,470,093,500)

2016.12.31 (12Xt

167,455,885,000

276,205,595,328
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17,020,168,065

815,749,632,216

1,236,365,038,694
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167,455,885,000

276,205,595,328

(40,066,241,915)

17,020,168,065

815,749,632,216

1,236,365,038,694
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135,421,884,729

135,421,884,729
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28,833,878,721

28,833,878,721

XHKJHOA

2,990,430,202

299,430,202

TEEIE)

(22,095,781,500)

(22,095,781,500)
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167,455,885,000

276,205,595,328

(40,066,241,915)

45,854,046,786

932,066,165,647

1,381,515,450,846




